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Fifth Semester B.E. Degree Examiqflffiiin, Jan./Feb.202l
Management and Enginee-rffflg Economics

Time: 3 hrs. 'rihr,. '' .Max. Marks: 80
t"ut:'t*

Note: Answer any FIVE full questions, cho.pi g ONE full question,fionp each modale.
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Module-2
Explain with a'ilEilt diagram, line and staff organization. (08 Marks)

Briefly explalp.ifid techniques of selectio:n:.; "' (08 Marks)

,"',\'. 'i". OR
Descffi biiefly the essentials of,[tsdund Control Systeni. , (08 Marks)

Briefly explain the Maslow's Hierarchy of needs. (08 Marks)
,r ,: 
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Modrrle-3r|'""" 'r """"'- "'r
Exp1ainhowCasherow-...bidg'u-'@fuibutothedecisiorlmakertounderstand
and solve Engineering'Eebnomics problerns'and give borrourrer's:1'and lender's perspectives

for cash flow diagram "q+' , (08 Marks)

b. Aperson is planning for his retired lifels[Je has 10 more y_ears of service. He would like to
deposit 20%'of his salary which is Rs tO,OO0/- at the end of the First year and there after he

wishes to depoSit the same amouni*.,($b 10,000) with an Annual increase of Rs 2000/- for the

next 9 ye*rr{"ith an interest rate of).\oh. Frndthe,io mount at the end of the 10th year of
the abffitbries. :. \*F";" (08 Marks)Io.;Psenes' 

=r 
'\,',,

;i:r:"'t1"":: OR'O''.',' ;:;:r:' :; u$*i;;,;
&..,,,,,,,,'S,,,,,!$e and explain Larv offteturns. : (08 Marks)

b, r termine the effeeti$zii interest rate in thdl,frllowing cases :

"'.1i) Nominal rate of l)Yo compounded:monthly with time interval of one year.

i, Nomina_l,rate of l8% compoqpded weekly with a time interval of one year.

iiD Nomina*::r,'h1e of l3o/, comp'O d monthly with a time interval of two years.

iv) Nomihal.ldte of 9o/o compounded semi annually with a time interval of two years.,,, (09 Marks)

Module-4
7 a. Two motorcycles of brand "A" and "B" are available on the following terms :

i) Motor cycle '1A" - make a down payment of Rs 5,0001- and then Rs 6,000/- at the end of
each year for 7 years.

ii) Motor cycle "8" - malie a. down payment of Rs 15,000/- and no payment for the next

3 years. From end of the 4tr year annual payments of Rs 12,000/- for the next 3 years.

,,;li;!li\ :::::::

Findthetrture worth of Motor cycle A & B.
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p. Two types are available' If bothA stand by lighting generator is required for a shop,:_Two types are avallable' lt Dotn

generators have a t6 Jf 4 y.urc and the interest *,: +. I 
5o/oper year, which offers the lowest

equivalent annual cost

15ME51

(08 Marks)

lvDe- r Tvpe-2
First - Cost Rs,5,000/- Rs 3.200/-

Salvage value Rs 1,000/- -Nil-
Annual operating co,$t+ ' Rs 780/- Rs 9508"r'

I{,., $'
OR

given below, if the;ftFft MARR is 15%. Life of all8 a. ComPare the two
the two ProPosals
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vii) Profit = 20o/o of to1 st.

Determine i) Total cost"for the month.

ii) Profit for the month.
iir) tvtan hou1fff overheads.

'' (08 Marks)

b. A crane .u, Ug*iffiJ" on lease for a prqiiit,for 3_years for Rs 1,80,000/- payable now,v ;#il,;;-";E +, ,1 .:l l,* ue pffifiasd-t::1'-419fll';11u*'^:::i:::]: fffj

10

ffiffi;$;09,g04 1tf1,!3"u"...&sis 
are expected to be Rs s,000/- per vear for the

first twghyea$ and Rs 10,000/- for,.thdrthird year payable at the end of each year' At what

*t.r.rirutes would the two altern#vts be equivalent?..,''{;11r, (08 Marks)

--'; Module-S ,i{l'',,,,,fl0".',,,4, *\
a. Briefly explain the functi.o,,,,S"F*of Estimating dep-aS-*int ' . (08 Marks)

b. A CNC -r.fri* .*trFa'qEOO,000/- is esti."atdd.to serve for 8 yeB fter which its salvage

value is estimated to be Rs 2,50,000/- Find/

r) Depreciation fund at the end of the 5ft year by Fixed p_erce.46age method and Declining- 
Baiance Ina.,66a *, #,,"'""iii ,,tu*,,"',,-'i'

ii) ffi;;;ffiiiie mact ine after=$sryi'ar and 6th 

lear-ufDeclining 
Balance *"1t3*".u,

" -" .4,

a. Explffih a block aia,q,ryiqiUU-elements of c.opf.and components of cost' (08 Marks)

b. ,p4i{'ei*"r" employg4,.17*5.workers in a particular month to work in the outlets as well as

,er tiome delivery. Ttre _fofmwrnq- 
are the,"{filS of expenditure :

,-" = Costofmatem{{Ri80,000/- _ ",,^...,ffii"i) Rate of waq,,.$ f". each workels =Rs20 per hour of normal duty, Rs 40 per hour of
overtime dutY.'

iii) Man hofirffier day of norm-l'ti[iity = 8 hours.

iui Numb, of holidays per month (without wages) : 5 days'

v) Total8Verhead expenses * Rs 20,0001-.

vi) Total overtime avai,@d".by workers = 2A0 hours'

*****
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5,50,000/.i'

(08 Marks)


